REFELME S E 4B EST# B R 4 5

PS5 | 4 BRI SMiES THKR &8 ()
1 A 13 Takokk 1387 430223%kkkskkkk80 1 X — T 500
2 LR 19 Lekkx4716 430223848018 — I 500
3 PH A+ 156%*k++2265 430223 %kkk44k 7617 — MR FET A 500
4 [k ph 156%++:0053 430223 %%kkkk4%6553 | FHRY LRI 500
5 A 13852578 430223kksckekeickk 6515 — A 500
6 TxAE 159448417 43022 3%kkk44k29 10 — MR FT A 500
7 B 139kkk2915 430223k 261 X AR 500
8 iz 137skk4017 430223tk 26 10 {BNES 500
9 FExAE 18245722 43022 3%kkk442938 — MR FET A 500
10 | iExF 173skkk4.329 430223 %kkkkxx%2914 | FHEY LR BT 500
11 T A 173464029 430223 %%kkkk4%2913 | RS RIS 500
12 | Brx#) 134%skk1658 430223 %kkkk42919 (e 500
13 MxiE 150446861 430223kt k4k% 291X — R Z A 500
14 | #xH 150348539 430223 %skkk%0k%29 18 — LA 500
15 | X« 156542953 430223k 3295 — A 500
16 7Kk SR 18244443108 430223k 2633 {ERES 500
17 ExpE 136%%%%1960 430223%kkkkkkx2953 AR 500
18 | Tyt 130%kkk6763 430223 %kkkkk291 | (e 500
19 B0 133%4%%6935 43022 3kk4kk4k% 2936 — R Z A 500
20 Y3 133%k4%2973 36031 3xkstkokkkx4034 — MR FET A 500
21 | XixfK 1393543726 430223skskkkkckk 2915 — N 500
22 | X 150356095 430223 kkpkkxk%2638 | AN VLA 500
23 P 137+%%%5491 4302234k 29 15 AR 500
24 | Tz 1513549312 43022 3skskkkekekk 2919 — BN 500
2% | 199stkok 1887 430223 kstkork29 12 — TR 500
26 s 7 138%kkk8115 430223%kskskkkk4291 1 S 500
27 S 13440095 430223 %kkk4%2916 — MR FE A 500
28 T¥x= 153444668 430223 %kkskkkkk2939 — ST 500
29 I *BH 1 33%4%kx4239 43022 3kk4kk4k% 2939 — R Z A 500
30 | fpfqi 183344966 430223kkkkkkk2315 | FRAYSLRZT IR 500
31 | Xixik 135%5+%6582 43022 3skskkkekckk26 15 — N 500
32 | sk 1333545732 43022 3kkkokeksickok 26 13 — N 500
33 Wik B 13941982 43022 3%k k4426 18 — MR FT A 500
34 | gkxE 188k#%x8027 43022 3skskktekekk 26 30 — BN 500
35 T A 1809296 43022355426 16 — A 500
36 [k . 173%%%%7030 4302235k 1030 S 500
37 XA 18234736 430223kkskkk4k%29 13 — R ZL A 500
38 | Txg 17350708 430223 %kkk5k42919 — LA 500
39 | Fxok 13435010 430223 %kkkk30k2636 | FHAY LR 500
40 1k 178+4%k%7249 43022 3kk4kk4k% 2956 — MR FET A 500
41 AT 176%#%x5638 430223 %skkokkokk5913 — A 500
42 | e 1733449592 430223 %skkekkkk5939 — A 500
43 £ 178%x%%5479 430223%*kkkkkx%5910 — A 500
44 | Afa*tE 187442522 430223 %skkok0kk6 53X — A 500
45 | fa[xiy 177k%9556 43022 3sksktckskkk651 1 — &I 500
46 R 159349289 430223 %skkk%k%%65 1 2 — 3R 500
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47 xR 187kkkk4458 430223 %xxxx%%%9534 sl 500
48 | %I 183%kkk3319 43022 3kkskkskk%9534 TR F A 500
49 | ZxH 15 kkk998 | 43022 3kkskkkkk951 2 | 500
50 | ZExk 13739839 430223 %k:kskkckkk95 15 FERITT 500
51 T 137kkk9455 430223kkkkxk%9530) — LA 500
02 | k) 1313449912 430223 %kkskkckokk95 15 TR F A 500
53 | FxfH 1588036 430223 %kkkskkckok9554 — LA 500
54 | Fxg 139skkok4643 430223 %kkskkckokk9513 — ST 500
55 EES 1387586 430223 %k:xkckkk95 18 — I 500
56 | R 15034908 430223%kkkskkkk95 1 X — 3T 500
o7 Rex 153%%k4966 430223 %kkkk%%%953 7 — % 500
58 | o0 138kkk4277 430223 kkkkkkk95 1 5 — T 500
59 ik 2 139skkk9298 430223 skkskkxkk9535 — I A 500
60 Jii] 3 ] 1981027 43022 3sskskskskckokk9538 — ST 500
61 B30 139kkk6756 430223kkkkxkk9555 — A 500
62 | Fxith 18932507 430223 %kkskkckokk95 18 — I 500
63 | Xixtf 155%k%kk6390 430223 %kkkkckkk9538 — 3T 500
64 FH s 158Kk 1947 430223%kkkskkkok955 1 — 3T 500
65 i 3 1830365 430223 kkkkkkk9538 — I A 500
66 | H*xs[ 18739963 430223%kkkskkkk9534 — 3T 500
67 |4 15 1%%%x5384 43022 3skkkckckckekek9512 — ST 500
68 | JExkL 182542066 43022 3kkkkskkk95 1 X — LA 500
69 | ifxfp 132:kkk8459 430223 kkskkxk%9518 — I A 500
70 FH ok [ 182%k%%1499 43022 3skskskskckokk9597 — Rt 500
71 A 1 78%kkk7 149 430223skkskkskkk957 | — LA 500
72 | FxpE 1343k 1292 430223 %kkskkckokk95 18 — T 500
73 | TR 1353%kkk3382 430223 %kkkkckkk9538 — A 500
74 CED'S 1382649 4302234391 10 — 2 500
75 RN 139440825 430223491 17 g ol 7% 500
76 s 155%:%%7926 43022 3%kkkk43k%9 1 37 iy 2% 500
77 7k 139%:4%%7668 43022 3kA4kAk4%911 1 — 3T 500
8 | Fxk 1393810 430223 kkkkk0kok 1839 TR F A 500
79 | A 139kkk9779 430223skkskksckokk 1811 | 500
80 Lhx 4> 13737098 430223 %k:kskkckokok 1817 FERITE 500
81 SREKGE 173%kkk6928 430223k 1810 TR F A 500
82 | JExAH 153340513 43022 3sksckkcksiokok | 837 FERIFEIA 500
83 | XBx[H 151 %#kk3235 430223 %skkeksokk 1818 FEREE 500
84 | Z=xif 133348536 43022 3skskstcksiekor 1 816 FERITE 500
85 gk 183k 1287 430223k 181 x el 500
86 | BEixJf 173%5k7156 430223skskkkekiekok 1815 FEREE 500
87 i) 2 187%%k0918 430223 %kkkkxx%1816 B B 500
88 Frxik 1353%kkk6729 430223 %kkkkkkk0818 R LA 500
89 Tk 133k 7983 430223 %%kx55%k801X R A 500
90 kg 246%kkk8 43022 3skskskskckokk8018 — AT 500
91 TE %7K 1594k 1403 430223k 5k x4%%8018 — A& F3 A 500
92 2541 132%4%%9383 43022 3%k5kk4%%8036 — N 5T 500
93 1Al 155%*k4%2956 430223 kk4k4k%%8016 — 3 500
94 kA 18344478 430223 kk4k4k%%8016 — W 500
95 FKL 183k 2862 430223 %kkx5kk801 7 — I 500
96 Tk B 1511352 430223 %kk4k4k% %8016 — 2 500
97 154 182:3%%9738 430223%kkkk5k%803 1 — 3T 500




98 T xf 150547759 430223 %kkkkk4x3274 SRy 500
99 | xxR 1876572 430223 kstokoketokok 3232 A A 500
100 [ #fxtE 139%%%%2959 43022 3%k4kk4%k% 3230 50 32 A 500
101 [ 17T%4%2736 43022 3kkdkdkk 3232 — &I 500
102 [ BExsE 182%x+%6708 430223 %kkkk44k3236 — M 3 A 500
103 | Bl 15740201 430223 %4kkkk4%323X — W& 73 A 500
104 [ xixtg 184#:4%%6268 4302234k k4% 3219 SRy 500
105 | #HxRE 135%k4:6220 430223 %kkk44k 3218 SRl 500
106 B xtE 153%+4%7783 430223 %kkk44k3236 — W& 73 A 500
107 | JxtE 15844381 430223 %kkk44k 3213 — W& 500
108 | Fxip 133%+4%5936 430223 %kkk44k 3237 — & Ix 500
109 [ B+ 139%x+%7807 430223 %35kkk44k3553 — & %% A 500
110 [ BixE 1 33%k+%3529 430223 %4kkkk4%3214 — M3 A 500
111 | Xixtg 137+%%x6221 430223kt k4k% 321X — &I 500
112 [ ifxtE 139%x4x0724 430223 %kkkk4k3218 — M3 A 500
113 | #ixRE 152548608 430223 %4kkkk4%3214 — M& %3 A 500
114 | i) 133%+4%9078 430223 %kkk440k 3258 — W& 500
115 | &3¢ 173%4%x7619 430223kt k4k% 327X — & 3x 500
116 | XIJ*A 1 78%x+%2636 430223 %k kk4k 3212 — T 500
117 | Xixkt 166+4%+x2964 4302234k k4k% 3213 — W& 500
118 | BAixRE 155%++:%2830 430223 %kkk44k 3230 — W& 500
119 | Bk 158%kkk2595 430223 %kkskkk325 1 — A 500
120 | X3 177%x%%0368 430223 %k kk4k3217 — T 500
121 | St 18340794 430223 %kk k443238 — & TX 500
122 | Bixjo 198%k+%6322 430223 %5k k44k3230 — M 3 A 500
123 | Bispk 176%++%3260 430223 %k k44k321 3 — W& 73 A 500
124 | XJxRE 17 3%4%k%6327 4302234k k4% 3510 — W& 500
125 | ZExfg 15247855 430223 %kkk44k 3212 — & 3x 500
126 | % 153k 7838 430223 %kkskkk321 X — I A 500
127 | X*fh 15241 128 430223 %kkk44k 3218 — 2 500
128 | #p*iE 189+:k%x(0411 4302234k k4% 3259 SRy 500
129 [ Expk 173%%%%3271 43022 3%k4kk4%k% 3236 — & %% A 500
130 [ Bt 1 58%++%6493 430223 %k k44k3235 — M3 A 500
131 | %E=4n 15130053 43022 3%kkskkkkk 3217 — 3 A 500
132 [ Bl 183%k+%1230 430223 %k kk4k3212 — &3 A 500
133 | Ex¥¢ 173%%%x5811 43022 3kk4kk4%k%3213 — M& %3 A 500
134 | FxP 152:%4%%0995 4302234k k4k% 3218 — W& A 500
135 | x5 138442686 430223 %kkkk4x321 1 — &7 A 500
136 | #H*x= 191%%%%1073 430223%kkkk4k%3214 H5 0] 33 A 500
137 | Phxig 152%+4%2864 430223 %kkkk44k 3217 — & Ex 500
138 | Xl*= 19145176 430223 %kkk44k3215 — W2 500
139 | x5 17 3%x4%4256 430223 %kkk44k3219 — W& %% A 500
140 | #HxE 1 37*%%%5342 430223%k4kk4k%3235 H5 ) 32 A 500
141 | Xlxz 153%4%x6275 4302234k k4% 3210 — &I 500
142 | &P 158%x+%0713 430223 %5kkk44k3210 — M 3 A 500
143 | i 1 37kk4%6423 430223 %kkk44k3219 — W& 73 A 500
144 | Bpxte 134446610 430223 %kkkkk4%3214 — & Tx 500
145 | [ 199448932 43022 3kkkkk40kx 321 1 — & 3x 500
146 [k 181%*+%0510 430223 %kkkk44k3276 — W& 73 A 500
147 | gkxx= 156%++:48823 430223 %kkk44k 3217 — & Tx 500
148 | kg 177445607 430223 %kkk44k 3237 — W& 500




149 | 4 1 38+4%x8558 430223kt k40kx 321 1 — &I 500
150 | exf 137%%4%9529 430223 %skkoksokok 323X — I 500
151 [ B&E*% 151%+%%0628 430223 %kkk44%3216 — H& 3 A 500
152 | Zkxk 173449257 430223 %kkk44k 3257 — &I 500
153 | #H*57 152%%%%2499 43022 3*k4kk4%k%3257 — M 3 A 500
154 | FfFxiE 177%k4%]1 289 430223k 4kkkk4%3214 — W& 73 A 500
155 | Zfkx 18747644 430223 %kkk440k 3218 — & Tx 500
156 | xi 173%:k%8776 4302238850k 321 7 — AN 500
157 | BE+F 199%++%3581 430223 %kkk44k3215 — W& 73 A 500
158 | [*ar 189::4%x7027 4302234k k4k% 3217 — W& 500
159 | Z=xik 133%++%8612 430223 %kkkkk4%3294 — & Ix 500
160 [ Bhxif 133%+4%7683 430223 %4kkkk4%3214 — & %% A 500
161 | #H*5= 187+%%%2708 430223%k4kk4%k%3210 50 32 A 500
















